



$$f'(a) = \frac{a-1}{a} = \left(\frac{a}{a}\right)$$

۱

$$f(x) = \sqrt{ax-1} \rightarrow f'(x) = \frac{a}{2\sqrt{ax-1}} \Rightarrow \frac{x+\varepsilon}{a} = \sqrt{ax-1}, \quad \frac{a}{2\sqrt{ax-1}} = \frac{1}{a}$$

$$\Rightarrow 9a = 2x+1 \rightarrow \Delta a = \frac{10x+\varepsilon_0}{9}$$

$$f(a) = \sqrt{\Delta a - 1} = \sqrt{\frac{\Delta_0 + \varepsilon_0}{9} - \frac{1}{9}} = \sqrt{\frac{\Delta_1}{9}} = \sqrt{9} = 3$$

۲

$$f(x) = \frac{x^2+mx+1}{x+2} \quad y = \frac{3x+n}{x} \quad f(1) = \frac{3+n}{\varepsilon} \Rightarrow \frac{3+n}{\varepsilon} = \frac{3+n}{\varepsilon}$$

$$f'(x) = \frac{(x+m)(x+2) - (x^2+mx+1)}{(x+2)^2} = \frac{x^2+4x+2m-1}{(x+2)^2}$$

$$f'(1) = \frac{f}{\varepsilon} \Rightarrow \frac{1+4+2m-1}{\varepsilon} = \frac{f}{\varepsilon} \Rightarrow 4+2m = 12 \Rightarrow m = -2 \quad m+n = -5$$

۳

$$f(x) = \frac{2V - \sin^2 x}{a - \sin^2 x} = \frac{(2 - \sin^2 x)(2 + \sin^2 x + \sin^2 x)}{(2 - \sin^2 x)(2 + \sin^2 x)} \quad (fg - f)(x) = \frac{g}{\sin^2 x} - \frac{\sin^2 x + 2\sin^2 x + 2}{2 + \sin^2 x}$$

$$= \frac{-\sin^2 x - 2\sin^2 x}{2 + \sin^2 x} \Rightarrow (fg - f)'(x) = \frac{(-2\sin x \cos x - 4\cos x)(2 + \sin^2 x) - (\cos x)(-2\sin x - 4\sin x)}{(2 + \sin^2 x)^2}$$

$$= \frac{-\cos x(\sin^2 x + 4\sin^2 x + 2)}{(2 + \sin^2 x)^2} = -\cos x \quad (fg - f)'(\frac{\pi}{2}) = -\cos \frac{\pi}{2} = -\frac{1}{2}$$

۴

$$f_{\log}(x) = \frac{-1}{\sqrt{\frac{1}{x^2+1} + \frac{1}{x^2+1}}} = \frac{-1}{\sqrt{\frac{2}{x^2+1}}}$$

$$= \frac{-1}{\sqrt{\frac{1}{x^2}}} = \frac{-1}{\frac{1}{x}} = -x \quad (f_{\log})'(x) = -1 \rightarrow (f_{\log})'(\sqrt{x}) = -1$$

۵

$f(n) = \left(\frac{-1 + \sin n}{1 + \sin n} \right)^r$ $g(n) = \frac{f(n) - 1}{n} = \frac{\frac{\sin^r n - 1 \sin n + 1}{\sin^r n + 1 \sin n + 1} - 1}{n} \Rightarrow$ $g(n) = \frac{-\varepsilon \sin n}{n(\sin^r n + 1 \sin n + 1)} \Rightarrow \lim_{n \rightarrow 0} g(n) = \lim_{n \rightarrow 0} \frac{-\varepsilon \sin n}{n(\sin^r n + 1 \sin n + 1)^r}$ $\text{L'Hôpital} \Rightarrow \frac{-\varepsilon x}{x^r(n+1)^r} = \frac{-\varepsilon}{1} = \boxed{-\varepsilon}$	6
$y = x^r + 1 \quad \frac{dy}{dx} = r x^{r-1}$ $y = -x^r - 1 \quad d: y = c$ $-x^r - 1 = c \rightarrow x^r = -1 - c \rightarrow x = \pm \sqrt{-1 - c}$ $y' = -rx \quad \left. \begin{array}{l} m_1 = -r \sqrt{-1 - c} \\ m_2 = r \sqrt{-1 - c} \end{array} \right\} m_1 \times m_2 = -1 \neq (-1 - c) \neq 1$ $-1 - c = \frac{1}{\varepsilon} \rightarrow c = -\frac{8}{\varepsilon} \quad \text{Abolo} = \boxed{\frac{\Delta}{\varepsilon}}$	7
$f(n) = r\sqrt{n}(\varepsilon n^r + r) \rightarrow f'(n) = \frac{r \cdot n^r + r}{\sqrt{n}}$ $d: y = an$ $\left. \begin{array}{l} \frac{r \cdot n^r + r}{\sqrt{n}} = a \\ a\sqrt{n} = r \cdot n^r + r \end{array} \right\} \Rightarrow \frac{r \cdot n^r + r}{\sqrt{n}} = a, \quad a\sqrt{n} = r \cdot n^r + r$ $\Rightarrow r \cdot n^r + r = r \cdot n^r + r \rightarrow \frac{r}{n^r} = r \rightarrow n^r = \frac{1}{\varepsilon}$ $n = \pm \frac{1}{r} \xrightarrow{n>0} \boxed{n = \frac{1}{r}} \Rightarrow a = \frac{r \cdot (\frac{1}{r})^r + r}{\sqrt{\frac{1}{r}}} \Rightarrow \boxed{a = \sqrt{r}}$	8
$d: y = an \quad f(n) = \frac{\sqrt{n}}{-rn^r + n + 1} = an \rightarrow f'(n) = \frac{4n^r - n + 1}{r\sqrt{n}(-rn^r + n + 1)^r} = a$ $a\sqrt{n} = \frac{1}{-rn^r + n + 1}, \quad a\sqrt{n} = \frac{4n^r - n + 1}{r(-rn^r + n + 1)^r} \Rightarrow \frac{4n^r - n + 1}{r(-rn^r + n + 1)^r} = \frac{1}{-rn^r + n + 1}$ $4n^r - n + 1 = -\varepsilon n^r + rn + r \rightarrow 10n^r - rn - 1 = 0 \quad \boxed{n = \frac{1}{r}} \quad n = -\frac{1}{\varepsilon} \quad \text{JOS}$	9
$f(n) = (n[n])^r \rightarrow f'(n) = r(n[n])^{r-1} [n] = r[n](n[n])^r$ $g(\frac{\sqrt{8}}{r}) = \frac{1}{\sqrt{(\frac{\sqrt{8}}{r})^r - 1}} = r \rightarrow f(g(\frac{\sqrt{8}}{r})) = f(r) = \boxed{94}$ $g'(\frac{\sqrt{8}}{r}) = \frac{-\frac{\sqrt{8}}{r}}{((\frac{\sqrt{8}}{r})^r - 1)^{\frac{r}{r}}} = 1/8 \rightarrow g'(\frac{\sqrt{8}}{r}) = \frac{-\frac{\sqrt{8}}{r}}{1/8} = -\varepsilon\sqrt{8}$ $\left. \begin{array}{l} f(g(n))' = g'(n) f'(g(n)) \\ = 94x - \varepsilon\sqrt{8} \\ = -r\sqrt{8}\varepsilon\sqrt{8} \\ = -\varepsilon\sqrt{8} \end{array} \right\} \frac{-r\sqrt{8}\varepsilon\sqrt{8}}{-\varepsilon\sqrt{8}} = \boxed{1}$	10